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Correct Answer: D 
 
 
QUESTION 995 
Which of the following is used to help business units understand the impact of a disruptive 
event? 
 
A. A risk analysis 
B. A Business Impact assessment 
C. A Vulnerability assessment 
D. A disaster recovery plan 
 
Correct Answer: B 
 
 
QUESTION 996 
A Business Impact Analysis (BIA) does not: 
 
A. Recommend the appropriate recovery solution. 
B. Determine critical and necessary business functions and their resource dependencies. 
C. Identify critical computer applications and the associated outage tolerance. 
D. Estimate the financial and operation impact of a disruption. 
 
Correct Answer: A 
 
 
QUESTION 997 
What assesses potential loss that could be caused by a disaster? 
 
A. The Business Assessment (BA). 
B. The Business Impact Analysis (BIA). 
C. The Risk Assessment (RA). 
D. The Business Continuity Plan (BCP). 
 
Correct Answer: B 
 
 
QUESTION 998 
During the course of a Business Impact Analysis (BIA) you will less likely: 
 
A. Estimate the financial and operational impact of a disruption. 
B. Identify regulatory exposure. 
C. Determine if functions Recovery Time Objective (RTO). 
D. Determine the impact upon the organizations market share and corporate image. 
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Correct Answer: C 
 
 
QUESTION 999 
Which of the following tasks is not usually part of a Business Impact Analysis (BIA)? 
 
A. Identify the type and quantity of resources required for recovery. 
B. Identify the critical processes and the dependencies between them. 
C. Identify organizational risks. 
D. Develop a mission statement. 
 
Correct Answer: D 
 
 
QUESTION 1000 
Which of the following will a Business Impact Analysis (BIA) NOT identify? 
 
A. Areas that would suffer the greatest financial or operation loss in the event of a disaster. 
B. Systems critical to the survival of the enterprise. 
C. The names of individuals to be contacted during a disaster. 
D. The outage time that can be tolerated by the enterprise as a result of a disaster. 
 
Correct Answer: C 
 
 
QUESTION 1001 
Which one the following is the primary goal of Business Continuity Planning? 
 
A. Sustain the organization. 
B. Recover from a major data center outage. 
C. Test the ability to prevent major outages. 
D. Satisfy audit requirements. 
 
Correct Answer: A 
 
 
QUESTION 1002 
Most of unplanned downtime of information systems is attributed to which of the following? 
 
A. Hardware failure 
B. Natural disaster 
C. Human error 
D. Software failure 
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Correct Answer: A 
 
 
QUESTION 1003 
System reliability s increased by: 
 
A. A lower MTBF and a lower MTTR. 
B. A higher MTBF and a lower MTTR. 
C. A lower MTBF and a higher MTTR. 
D. A higher MTBF and a higher MTTR. 
 
Correct Answer: B 
 
 
QUESTION 1004 
Which of the following is NOT a major element of Business Continuity Planning? 
 
A. Creation of a BCP committee 
B. Business Impact Assessment (BIA) 
C. Business Continuity Plan Development 
D. Scope plan initiation 
 
Correct Answer: A 
 
 
QUESTION 1005 
Which one of the following is a core infrastructure and service element of Business Continuity 
Planning (BCP) required to effectively support the business processes of an organization? 
 
A. Internal and external support functions. 
B. The change management process. 
C. The risk management process. 
D. Backup and restoration functions. 
 
Correct Answer: C 
 
 
QUESTION 1006 
A business continuity plan should list and prioritize the services that need to be brought back 
after a disaster strikes. Which of the following services is more likely to be of primary concern? 
 
A. Marketing/Public relations 
B. Data/Telecomm/IS facilities 
C. IS Operations 
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D. Facilities security 
 
Correct Answer: B 
 
 
QUESTION 1007 
When preparing a business continuity plan, who of the following is responsible for identifying  
and prioritizing time-critical systems? 
 
A. Executive management staff 
B. Senior business unit management 
C. BCP committee 
D. Functional business units 
 
Correct Answer: B 
 
 
QUESTION 1008 
Classification of information systems is essential in business continuity planning. Which of the 
following system types can not be replaced by manual methods? 
 
A. Critical System 
B. Vital System 
C. Sensitive System 
D. Non-critical system 
 
Correct Answer: A 
 
 
QUESTION 1009 
A business continuity plan should list and prioritize the services that need to be brought back 
after a disaster strikes. Which of the following services is more likely to be of primary concern? 
 
A. Marketing/Public Relations 
B. Data/Telecomm/IS facilities 
C. IS Operations 
D. Facilities security 
 
Correct Answer: B 
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QUESTION 1010 
Business Continuity Plan development depends most on: 
 
A. Directives of Senior Management 
B. Business Impact Analysis (BIA) 
C. Scope and Plan Initiation 
D. Skills of BCP committee 
 
Correct Answer: B 
 
 
QUESTION 1011 
Which primary element of BCP includes carrying out vulnerability analysis? 
 
A. Scope and Plan Initiation 
B. Business Impact Assessment 
C. Business Continuity Plan Development 
D. Plan Approval and Implementation 
 
Correct Answer: B 
 
 
QUESTION 1012 
To mitigate the impact of a software vendor going out of business, a company that uses vendor 
software should require which one of the following? 
 
A. Detailed credit investigation prior to acquisition. 
B. Source code held in escrow. 
C. Standby contracts with other vendors. 
D. Substantial penalties for breach of contract. 
 
Correct Answer: B 
 
 
QUESTION 1013 
Similarity between all recovery plans is: 
 
A. They need extensive testing. 
B. They need to be developed by business continuity experts. 
C. They become obsolete quickly. 
D. The create employment opportunities. 
 
Correct Answer: C 
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